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o FUI AT F T [ 57 JeT-UF 4 FRa g 24 T F97 38 &)
Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G RF T FS TET Tl § H OH FI-Yikaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o FYF J9T H TV TG Y& V7§ Yeer, J9T H B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o G-kl % &= @Il /971 T 88

Don’t leave blank page/pages in your answer-book.
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o FT-YRTH B SIRFT HF o 9T Tel A o SEvIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o & A T
frd sife dafeys 7o & G T Frdll I @7 9T T G

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U go7 % FUT 37 @ Y4 I€ Ghaa F @ [ 99T-v4 [ 7 @@ & Yher 3 U 59
T § #ig 4 @ w@hHre Tl A @
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

A 3
General Instructions :
() 39 g97-99 & 37 38 797 & G5 A @Sl - o § & g o g F G W &
This question paper consists of 38 questions in all which are divided into five
Sections : A, B, C, D and E.
(i) GT-:357 GC 71 720 T 7T 20 J97 &, J9% 597 1 9% &7 &/
Section - A : There are 20 questions from 1 to 20, each of 1 mark.
(i) GT-§:39 8% F21 @25 0% F7T 5 97 &, J9% J97 2 3% & &1
Section - B : There are 5 questions from 21 to 25, each of 2 marks.
(iv) @8- : 37 8 726 @31 0% Z7 6 J97 & 9% J97 3 6% & &I

Section - C : There are 6 questions from 26 to 31, each of 3 marks.
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(v) T -T:37 GC 732 G35 T FT 4 J97 8, J9% 7 5 9% F &1

Section — D : There are 4 questions from 32 to 35, each of 5 marks.

(vi) G -F:359 T 736 738 7% FT 3 J97 & T9% 9T 4 9% T &I
Section - E : There are 3 questions from 36 to 38, each of 4 marks.

(vii) T F97 AT & ey qe-g F 2 §9T § @ve-g % q Jo § &g % g
g9l 7 3T GUS-F & T Jo7 F ok ey 73 7 81 3T G v T 597 B
g7 &1

All questions are compulsory. However provision of internal choice has
been made in 2 questions of Section-B, 2 questions of Section-C, all
questions of Section-D and all questions of Section-E. You have to choose

one question of them.

gug — o
SECTION - A
1. @Il & 97 - 1

7 cot2 A —"T7cosec 2A =i,
Fill in the blanks :

7cot2 A -7 cosec 2A e

2. Th 6 Ho ol T ¥ F 60° I=AT H9T & Y G W BT I | IF BT I &R

2 )
(&) VY3 m B) 2V3m
(C) 3V3 m D) 6m
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A pole 6 m high casts a shadow on ground with Sun's elevation 60°. The length

of shadow is :

(&) V3 m B) 2J3m

(C) 3+3 m (D) 6m

3. IR F g P ¥ O 3= 9 fFEl g9 W PA, PB @l W@ WER 70° $ HIT W g &,

a |POA =R 2 1
(A) 45° (B) 50°
(C) 55° (D) 60°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 70°, then |[POA is equal to :

(A) 45° (B) 50°
(C) 55° (D) 60°

4. I9 U IEH W @ F IS R’g B Fd ol 1
The common point of a tangent to a circle and the circle is called ............. .

5. 28 cm &M AW Jq & Th HoUGE BT &=bal a1 81N, FTEa Hior 72° B 1
Find the area of a sector of a circle with diameter 28 cm, if angle of the sector is
72°.

6. E r A I & BT O A AT H TG ® 1
@) -2 xnr? B) —2 xonr

360° 360°
© -2 xar D) -2 xonr2
360° 360°
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The length of an arc of angle 0 of a circle with diameter ris :

(A) 3:00 X mr2 (B) 36900 x 21r
©) 3:00 X r (D) 3660° x 2112
7. A% T N F AT 12 7 cmS B, A N H Brewr & 1
(A) 31/3 cm (B) 32/3 cm
(C) 3vJ3cm (D) 3 cm
The radius of a sphere whose volume is 12 & cm® will be :
(A) 31/3 cm (B) 32/3 cm
(C) 3vJ3cm (D) 3 cm
8. I} P(A), g1 A FH WR¥ehdl e &l &, @ 1
(A) PA)<O B) PA) >1
() -1<PA<=<1 D) 0<PA<1
If P(A) denotes the probability of an event A, then :
(A) PA)<O B) PA) >1
(C) -1<PA<=<1 (D) 0<PA<1
9. frfeiad SRR ded § Iga® a1 & I=a a1 4 © ¢ 1
T A 0-5 6-11 12-17 18-23 24-29
SRS 13 10 15 8 11
(A) 16.5 (B) 17
(C) 17.5 (D) 18
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10.

11.

12.

(6) 2104/(Set : C)

The upper limit of the modal class of following frequency distribution is :

Class Interval 0-5 6-11 12-17 18-23 24-29
Frequency 13 10 15 8 11
(A) 16.5 (B) 17
(C) 17.5 (D) 18
e 7x11x 13x 15+ 158, T : 1
() Sty HeE (B) g @
(C) ¥ A=Y 7 HAH (D) 9 § HI3 T

Number 7x 11 x 13 x 15+ 15is a:
(A) Prime number (B)

(C) Neither prime nor composite (D)

Composite number

None of these

7% HCF (a, 8) =4 T4 LCM (a, 8) =24, @9 a © : 1
(A) 6 (B) 8

(C) 10 (D) 12

If HCF (a, 8) = 4 and LCM (qa, 8) = 24, then a is:

(A) 6 (B) 8

(C) 10 (D) 12

e (\/§+\/§)2 %, U 1
(A) STATdGS GE (B) uR®F dem

(C) oAy e (D) Yol

The number (\/5 + \/5)2 isa/an:

(A) Not a real number (B) Rational number

(C) Irrational number (D) Integer
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13. % —7 X 3 9 TgE ) 9@ © ¢ 1
(A O (B) 1
(€ 2 (D) 3

The degree of polynomial having zeroes -7 and 3 is :

(A) O (B) 1
€ 2 (D) 3
14. TZEE G999 x2 +2x 143 =0 & ffdEds anm 1
(A) 24 (B) 26
(C) 28 (D) 29

The discriminant of quadratic equation x% +2x-143=0 is :

A) 24 (B) 26
(C) 28 (D) 29

15. GTI?]?TETAABC AQPR, @ /R + LP% : 1
(A) 110° (B) 120°
(C) 130° (D) T8 § ®IE T
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16.

17.

18.

(8)

In figure, AABC ~ AQPR, then /R + ZPis :

A R

o>

Q
70°
B C P
(A) 110° (B) 120°
(C) 130° (D) None of these

Faegt (-g,_zj e (g,sj%aﬁaa%fg&% ............. |

The distance between the points (—%, — 2) and (%, 3) is ....

G 1 3G 93T, A sec@z%, 0 3 fhal 99 3 forw

State true or false, whether sec :% for some angle 6.

2\/5 cos 45°.cos 60°+2\/§ sin30°tan 60° — cos 0° &l HHE % :

J3
(A) 3 (B) =
2
(€) 1 (D) 1
2
The value of 2\/5 cos 45°.cos 60° + 2\/5 sin 30°tan 60° — cos 0°
J3
(A) 3 (B) =
2
(€) 1 (D) 1
2

2104/(Set : C)
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97 GEFT 19 T 20 % [T RemAsyr : 937 & 19 3R 20 & e (A) 3 9% 0 (R) &
FIT 51 (A), (B), (C) 3R (D) F & @@ fasbew g oran 6 ey R mn @

Direction for Question Nos. 19 and 20 :In Question Nos. 19 and 20, a statement
of Assertion (A) is followed by a statement of Reason (R). Choose the correct option
from (A), (B), (C) and (D) as given below :

19. ARFRYET (A) : IR THA. P. # ndl & (2n+ 1) T, O SED U&d oF T&l & A7 1581 1
W(R):%FﬁanMaﬁwﬁﬂ@%

ey

(A)  AREET (A) X T (R) 9! 98 § X @@ (R) ST (A) I T8 /e &Y 2l
(B) SRR (A) 3R T (R) AN @&l ¥, Al a (R) TR (A) 3 T8 e el S 2
(C) SIHIT (A) TEl §, Al a (R) T =

(D) ST (A) T 8, QAfbd d& (R) T& B

Assertion (A) : If nth term of an A. P. is (2n + 1), then the sum of its first three
terms is 15.

Reason (R) : The sum of first n natural numbers is n(n2+ L) .

Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct
explanation of Assertion (4).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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20. ARH (A) : 5 90 3w =™ B B W did © st Y guer ¥ 1

21.

@ (R) : I0 & A SHH G99 T Sar el 2

faeey -

(A)  ARHIT (A) X T (R) 9! Tl & X T (R) STNHA (A) I TE ARAT BT &l
(B) SRR (A) 3R T (R) aFT T8l ¥, Al b (R) ST (A) 3l T8l & el Xl 2
(C) SIHN (A) Tl 8, QAP d& (R) a2

(D) ARHE (A) TG B, AfpT d& (R) TEI B

Assertion (A) : The tangents drawn at the end points of a diameter of a circle
are parallel.

Reason (R) : Diameter of a circle is its longest chord.
Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct
explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

gUE - §
SECTION - B
m & T8 AF Fd Hiog fres e fagelt A(-3, -14) T B(m, -5) # g 9 R B 2

Find the value of m, if the distance between the points A(-3, —14) and B(m, —-5)
is 9 units.
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22. R coto=-—, qy LFTCosO1=cosO) o g o i 2
8 (1-sin6)(1+sin®)

(L+cosB)(1—-cosH)
(1-sin6)(1+sin®)

If cotb= g, then evaluate

HAYAT
OR
R #ifvT
sec O (1 —sin O) (secO +tan 0) =1
Prove that :

sec O (1 —sin 0) (secO +tan 6) = 1

23. T% JAER §d (brooch) F A & TX & SR ST & FTEH &M 42 mm 21 AR & g
% A9 @l & 9 F A SgE G T R SN I8 6 SR BreweE! § Wi wxar 81 A
qifa et Bl AR B TS ST BT 2

A brooch is made with silver wire in the form of a circle with diameter 42 mm.
The wire is also used in making 3 diameters which divide the circle into 6 equal
sectors. Find the total length of silver wire.

24, FraRad s Tl & g9 & 8 B 2
0.2x+0.3y=1.3
0.4x+ 0.5y =2.3
Solve the following pair of linear equations :
0.2x+0.3y=1.3
0.4x+ 0.5y =2.3

2104/(Set : C) P.T.O.
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gar

OR

e Y T & g @ e
3x 5y _ 23% Ly_13
2 3 2 6

Solve the following pair of linear equations :

2—ﬂ:—Q and £+Q:E

2 3 3 2 6

25. IR FH3 W TF AABC &l olldi AB X AC &l FA: D AR E W Ufereds H qer gl

AD AE
BC%W@T&TWW%AB AcéiTrn 2
A
D E
B C

If a line intersects sides AB and AC of a AABC at points D and E respectively

and is parallel to BC, prove that AD_ ﬂ

AB AC’

2104/(Set : C)
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goE - |
SECTION - C

26. U= FNT 3-5/2 TH URAG G 8, I 2 UTH UREY H@e& B 3

Prove that 3 - 5\/5 is an irrational number, if \/5 is an irrational number.

27. fgett (2, -1) 8iR (-3, —2) F SleH I I@ETS HI FHEHIT FA A fagall & R

ST SHifoTT| 3
Find the coordinates of the points of trisection of the line segment joining (2, —1)
and (-3, —2).
28. HaGHEH R HiT 3
(cosecB —cot 6)2 = 1=cos®
1+cosb
Prove the identity :
(cosec —cot 6)2 = 1=cos®
1+cosb
AYAT
OR
s @i -
\/se02 0+ cosec 20 = tan® + cot O
Prove that :

\/se02 0 + cosec 26 =tan06+cotO

2104/(Set : C) P.T.O.
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29. UF T4 & QA & T (g § Tl & Y@ BRI & G0 HI°T 99 45° AR 30° 21 A
g fFRE | 5 Ho @ Hak W &, A T H ALK 7T HivT) 3

From a point on a bridge across a river, the angles of depression of the banks on
opposite sides of the river are 45° and 30° respectively. If the bridge is at a
height of 5 m from the banks, find the width of the river.

30.@1@%@3%%,%@9@@%%@%%%&6%%% 3

Find a quadratic polynomial, where sum and product of its zeroes are

respectively J2 and %

31. k & 98 9 A Hi s [T 37 Wk gl & 3 & uRFR oM® & 8 ¢ 3
kx+3y—-(k-3)=0
12x+ ky—-k=0

Find the value(s) of k for which the pair of linear equations will have infinitely
many solutions :

kx+3y-(k-3)=0

12x+ ky—-k=0
AYAT
OR

stfilr—vr%s‘rwﬁ%,aaaﬂ%am@rlmw%aﬁ?agiaaﬁﬁ%maﬁs
e fear i &1 a' R sa @i

A fraction becomes %, when 1 is subtracted from the numerator and it

becomes%, when 8 is added to its denominator. Find the fraction.
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gog - T

SECTION -D

32. FT T & T AINA & THN H & NED S T G Saq STERING g1 o1
F AW 21 cm 2 AR 3A T B FI SaR 17 cm 21 3T T B AAD JOHI EABA
ST hifoTT| 5

A vessel is in the form of a hollow hemisphere mounted by a hollow cylinder. The

diameter of the hemisphere is 21 cm and the total height of the vessel is 17 cm.

Find the inner surface area of the vessel.

YqT

OR

T @ o A U TEhl B AP F gC @ @ SE AT o S9eR e &
iR @® 7 cm o, Wy Fam & e ofaR (qef) & % 91 gom ofeian o forad
Freme @ aifar &9 & s o AR o P @S9 10 cm 5, @ P & o e
T S TS AT S BT (n = 3.14 i)

—
‘—

10 cm

2104/(Set : C) P.T.O.



(16) 2104/(Set : C)
A juice seller was serving his customers using glasses as shown in fig. The inner
diameter of the cylindrical glass was 7 cm, but the bottom of the glass had a
hemispherical raised portion which reduced the capacity of the glass. If the
height of a glass is 10 cm. Find the apparent capacity of the glass and its actual
capacity. (Use m = 3.14)

10 cm

33. R T e g & HB ASTH Tewdol EN WhHRAEE HAEg fhbe e # W @
I LRI B 5

¥4 [T | 3000-4000 | 4000-5000 | 5000-6000 | 6000-7000 | 7000-8000 |8000-9000 | 9000-10000 |10000-11000

CREIn] 4 18 9 7 6 3 1 1

% GE

T SRSt P agaE ST T

2104/(Set : C)
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the world in one-day international cricket matches :

2104/(Set : C)

The given distribution shows the number of run scored by some top batsmen of

Runs 3000-4000 | 4000-5000 | 5000-6000 | 6000-7000 | 7000-8000 |8000-9000 | 9000-10000 |10000-11000
Scored
Number 4 18 9 7 6 3 1 1
of
Batsmen

Find the Mode of the data.

YqT

OR

T2 fear mr de u FEm B 30 fEiE & a) @ et @ R fEnliE & oaeme 9) S

FifoTT -
AR (Rpommo &) | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 65-70 | 70-75
foenfiEt @t dem 2 3 8 6 6 3 2

The distribution below gives the weights of 30 students of a class. Find the

median weight of the students :

Weight 40-45 | 45-50| 50-55 55-60 60-65 65-70 70-75
(in kg)
No. of 2 3 8 6 6 3 2
Students
2104/(Set : C) P.T.O.
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34. A.P.:3,15,27,39, ....... P HE-TT 98 ST 673 9§ § 132 31feRs & ? 5
Which term of the A. P. : 3, 15, 27, 39, ....... will be 132 more than its 67th
term ?

YT
OR

35.

eEd A H T i GeR af § 700 ¥ 9@ 74 9§ § 800 FSf H SMET A 81 Te
qF g 6 e aY S § THEEH B9 § U Nived g § 9K el 8, S i

(i) 103 ¥ & IAEA

(i) w&F 7 a9 § Fo IARA

A manufacturer of Mobile sets produced 700 sets in the third year and 800 sets
in the seventh year. Assuming that the production increases uniformly by a

fixed number every year, find :

(i) the production in the 10th year

(ii)) the total production in first 7 years

e @i fh T Bgel &1 Tl a1 9orell & Heg fergedl @l el arll 3@ ded 9o &
HHIAR Bl B 5

Prove that the line joining the mid-points of any two sides of a triangle is parallel

to the third side.

2104/(Set : C)
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Srgar

OR

AR SgYST ABCD %l 9818 T8 951 AD W R¥d E @& f4g & @1 BE 951 CD & F |
yfereds Yl 81 SET % AABE ~ ACFB |

E is a point on the side AD produced of a parallelogram ABCD and BE
intersects CD at F. Show that AABE ~ ACFB.

qUs -7

SECTION - E

36. Efbal ®H o A1 Jooil & AR SR dee, gq &l Wl @Sl & JRAGH S & Il ol
oo {6 deme fom ® femwmn ™ B

U MR % AER ) HEfaRag 999 & SOX &g ¢

() 3R TP=39 X AP=x2+3, @ x& HF Fd HiT 1

2104/(Set : C) P.T.O.
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(i) PT IR PA g P& 30 W el WK 21 IR a0 TMA 99 & &% W 120° H B

IIRT B &, A |TPA FI i 1

(it) =19 TNA &R =9 TMA % 19 H FAE S BT 2
e

e TP = 20 §1 B, @ ATHE & 2

The chain of bicycles or belt around pulleys are some real life illustration of

tangents to circle as shown in the adjoining figure.

Based on the given information, answer the following questions :
i) If TP=39 and AP = x%+3 , then find value of x.

(iij PT and PA are tangents to the circle from point P. If arc TMA subtends an

angle 120° at the centre of the circle, then find |TPA .

(iii) Find the ratio of measures of arcs TNA and TMA.

OR
If TP= 20 cm, then find AT.

2104/(Set : C)
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37. @ weld qNEr R fd & I8 [ § HB g9q 81 o AU UG A FA (eh wl

R o Saa feam Fem & &, S=ie are 6 3 T % 1 % 60 R, 3 2 % 42 foe,

3 5% 30 /b, T 10 % 35 fa® &R T 20 & 12 R 21 o/ I=M SO T Hoall
T @ AT Th (bl I e

U MR & SR 9T g 99991 & SaX &g ¢

(i) o TR & 6 g T R % 2 H B 7 1

(i) o TR & 6 g T R 5 W T & 7 1

(i) T SRR & 6 AT T R ¥ 10X 20 B ° 2
e

AT TR & & AT T R 3 10 § FH 59 & 5 7 2

2104/(Set : C) P.T.O.
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Two friends Soniya and Shruti have some savings in their Piggi Bank. They
decided to count the total coins they both had. After counting, they find that
they have sixty ¥ 1 coins, forty two ¥ 2 coins, thirty ¥ 5 coins, thirty five ¥ 10
coins, and twelve ¥ 20 coins. Now they said to Saloni, their another friend, to

choose a coin randomly.

Based on the above information, answer the following questions :

(i) What is the probability that the coin chosen is a ¥ 2 coin ?

(i) What is the probability that the coin chosen is not a ¥ 5 coin ?

(iii) What is the probability that the coin chosen is either of ¥ 10 or ¥ 20 coin ?
OR

What is the probability that the coin chosen is less than ¥ 10 coin ?

2104/(Set : C)
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38. # Ry T foe & REw ofaR & BeviE @@ & 86
A

5xm

Bx—-1)m c

ST % B9 g BYETeR O & HeM &l IUe gl § aEd & el & | Sx Ho
T (3x - 1) Ho B 3R BIgsT & &% 60 Hio” B
SR ST & MR W e 99 & Sax &g -

(i) SYUE 9T B TH [GHT THDBOT d @9 § Fa B 1

(ii) 1 AM ST BT 2
g

AC %! | FI i 2

(ili) AABC %1 4R A Hiro| 1

2104/(Set : C) P.T.O.
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There is a triangular playground as shown in the figure below :
A

5xm

B (Bx—1)m C

As we see in the above figure of right angled triangular playground, the length of
the sides are Sx m and (3x—1)m and area of the triangle is 60 m>.

Based on the above information, answer the following questions :

(i) Represent the above problem in the form of a quadratic equation.

(ii)) Find the value of x.

OR

Find the length of AC.

(iii) Find the perimeter of AABC.

2104/(Set : C)



